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D'APRES DES PHOTOGRAPHIES PRISES EN 1961,

CARTOGRAPHIE
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DEPARTMENT OF ENERGY, MINES AND RESOURCES,

PRODUCED BY SURVEYS AND MAPPING BRANCH,
OTTAWA, 1970, FROM PHOTOGRAPHS TAKEN IN 196].

.

o
b \ o~ »I/
T
609000m. E

«'/‘ .

608000m. E,

"N "W00016£9

127°00’

‘N ‘Eooowwmw

61015’
9
82
610 00’
127°00"

GRID NORTH is 1°58' (35 mils) EAST of TRUE NORTH

for centre of map.
NORD GEOGRAPHIQUE au centre de la carte.

Le REPERE MAGNETIQUE en 1970 est a 30°42' (546 mils)
NORD DU QUADRILLAGE est 1°58' (35 mils) & I'est du

EST du NORD DU QUADRILLAGE.

EDITION 1

95 E/2

CES CARTES SONT EN VENTE AU BUREAU DES CARTES
DU CANADA, MINISTERE DE L'ENERGIE, DES MINES ET

© CANADA 1973, TOUS DROITS RESERVES.
DES RESSOURCES, OTTAWA.

EQUIDISTANCE DES COURBES_________100 PIEDS

3 Milles

4000 Métres

SCALE 1:50,000 ECHELLE
1.25inches to 1 mile approximately

Metres 1000

Miles 1

OFFICE, DEPARTMENT OF ENERGY, MINES AND
IMPRESSTON°PROVISOIRE

© CANADA COPYRIGHTS RESERVED 1973.

PROVIS Gopes'may.

CONTOUR INTERVAL _______________l00 FEET



